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הבאות: המשוואות של הכללי הפתרון את מצאו .1

.2y′′ − 5y′ + 2y = 0 (א)

.9y′′ + 6y′ + y = e2x (ב)

y′′ − 8y′ + 7y = 0 (ג)

y′′ − 2y′ + 10y = 0 (ד)

y′′ + 10y = 2x (ה)

4y′′ + 4y′ + y = 0 (ו)

הבאות: המד"ר את פתרו .2

y′ =
1

sin y
(א)

y′ = 3y2 cosx (ב)

y′ =
x

y
(ג)

y′ =
5x+ 1

2y2x
(ד)

התחלה: תנאי עם המד"ר של פרטי פתרון מצאו .3

(א)
y′′ − 8y′ + 7y = 14x2 − 4x+ 3

y(0) = 5

y(1) = 1

(ב)
2y′′ − 5y′ + 2y = e2x

y(0) = 0

y(2) = 2
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(ג)
y′′ − 4y′ = x2 − x+ 1

y(0) = 1

y(1) = 0

}(ד)
y′ = x3(y − 3)2

y(0) = 4

}(ה)
y′ = x3(y − 3)2

y(0) = 3
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